GHI#E 1) FRIS
s (B =4M5%)
I * # &
(D) e BRI W
I b3 H
# H ) # H T
B % feit FVRE M OB R B 303, 023 o PR A PR 298, 912
A F 10, 446 N # 0
A % 0 R 22, 401
FREEHERR 57,701 HIERAE 0
FEBE « S 0UKE 57,391 BB HE R 155
FRARTFAR « R < W 0 KEEIRE 0
Yit5 5 0 R HEFF A 1 222, 152
Dt 310 fi B30 53, 738
Wi e 2% 3 it 0 T LRt 0
L] 0 PRV e L 466
] 0 LR - e 0
Z O 0 AL RECE ¢ 0
fif S & Wik 5 49, 349 T H S R 0
Tof A 4, 582 Z Dl 0
T S X E M 0 Al Bh 4 558 4 0
ERB 44, 767 1 F B8 & 0
A REPRY, 0 WlEE 0
ik B i % 0 HE R 0
TR it 5% 80, 778 Z D 0
B % 80, 778 R E AR A EE 1,204
A & 1,204
Z D 0 KEEHE 1, 204
PRV H Rt bt R 0 s 296
VSN AL i 5% 0 ISR 908
P B B ik R 0 B TE 0
VT B A T R e 0
ARG A % 6, 295 RS 0
s - fRAE 0 Z Ot 0
5l 0 T 0
48 H 0 I+ 0
T 98, 454 L ESH RNL - PG 2 26, 356




(Z D) w5 BRI S

I

7 H

YR

(TH)

jz27]
Z DA,

b Rk
At 5 R
B R
PR ST 60 Tk
Tk

[ i 32 HH 4
R T R = g
KEEIREGHS
EHRMEE THEA4 e
F O

B HIlTA S H e

Tk EAReE
ZiEEAME
HERBEEEAES
Z DAt

INE
SEMEIR
EHAEIE TE

BABE FERLUN

£ DAt
e 4
FIT
i 2ok
E&
= HURBE
AHE LA
SEEREAE SN
HEBLEMN&
LA

CIESES YN
Z O

— W F NS DA

o0 O O O O O o o o o o

272

[«E ool RelRwi el el -

272

AN S
[

326, 472

op

5]

326, 472




G FH G H
(20 ) BRI HE
I b3 H
5>
H H S K ; S
3 4 0 R BIRAE PR 31, 290
FEA R 0 N2 22, 530
i R 0 T # 5,927
BRIGHERY - IR MR 0 GLE-R 2, 833
B HiRTR SO 4 0 BN T 1 E 540, 450
A5 0 EiE ¥ 540, 450
O HaRR 0 W EEARS 0
BRI AR - PR EHMRR 0 HEE R B 298, 519
LA it 0 EEEEEAHS 0
Zhh e 0 fiibhFE¥(aEe 298,519
8N T 0 PRETHEN - PR 0
R X 0 EEREAHS 0
BRETMRR - IR MR 0 IR = = Fiskey 0
JZ A fit 5% 0 A Tt i R A 0
N 325, 502 VEEMERE 0
BN T 27, 002 & & 0
THE fifa R 298, 500 B4 0
BREEMRY - PR MR 0 Z DAt 0
JE A= i 7% 0 T &8 4 0
=35 0 FATHITE % 0
Z Ofth, 0 ZRETLEE 0
Bt @ rhlER e 0 HRBERAEERESS 730, 078
Z D 0 YNy 730, 078
HREEMN & 0 BN e 412, 313
2T RUUE N AV PN 0 I 374, 130
AT E R R 0 i+ 38, 183
B 0 M R 303, 887
hEFto b OfE A% 0 yIR 270, 015
SEREFHEALA 0 Flv 33, 872
WL R A& 0 BREMIRR - PR MRk 13, 878
o 13, 653




(ZD) BB

I A X H
H ; em H : S
~HRERET DD DN 1,274,835 FlF 225
H AR 933, 825 JE A % 0
R i AR 311, 657 JCa 0
BREZHEA - (R AHERR 13, 878 T 0
JE A i 5% 0 =L 0
(=3 0 o 0
H B 4 0 il 0
i 4& 0 Z DA 0
Z DA 15,475 L 0
F¥ 0
—REFF DA E 0
& G 1,600, 337 &) i 1, 600, 337




